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QUESTION BOOKLET

This question paper contains 170 questions. /ST I A H 170 TH & |
All questions are compulsory. / qft 337 31f4a/ & |
One question carries half mark only. / T 94 o T shaet e 37k 2 |

Maximum Marks : 85 JAfehaH 371 : 85
Time : 2 Hours uy : 2 gue
1. renfoRad Teei I Wi sfagm o shid 91 Irehi-ad 31 ST g ?

(A) HETHRd (B) g

(C) THET (D) Tt (sfrmgwerefi)
2. ‘e fram A MU S § ?

(A) =i (B) & (C) w&= (D) A

3. T o e R 7
(A) wifet (B) @&hd (©) 3¢ (D) 3Ty

4. ‘g i EHS AT & wied 8 SIS UH 3T HGT % AN 1 AW Al & fha
fagm g AR @ 15 8 7

(A) e g fgad (B) il firre o
(C) R THE Yo (D) wayfd
5. ‘feayeoay Tug i agd ?
(A) THTG (B) AR EA (C) &dHaR (D) THcE
6. TIF TUY - TR, I TUT HHTE ! 1 AW feam T g ?
(A) Bt - (B) B (C) fr= (D) A
7. TefdfReada s @ @ geen geg i 8 7
(A) T HAT (B) I<d (IErd)
(C) TEmEet (D) Tt haeh! sl a
8. T qRif-eh NfewT, M, hima 3R RTeR 3 et fervares fonet o1 o1 gwef= foman 7
(A) el S & T (B) el el o ToIT
(C) et fueies 8 (D) T8 & IS &
9. 1T ! Tggdl fore fere et ?
(A) g (B) wMg (C) IR T (D) TSRIET
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10. 3N G o SHTEATISH hiH & 7

(A) = fgam (B) 3= &g

(C) AT wed (D) $ih
11. ol Gfah @ fraa st ?

(A) T3 (B) o™ (C) 3gvg (D) &
12. I vreg fiy afg s srf e B 7

(A) He @ fhenl  (B) ¥ (C) weM (D) HgH @

13. T UM YA STTeT<ehl i fohd it § 371d & 7
(A) TBeTEId (B) TEad (C) Ufverfes (D) ¥ H IS T
14. fadl qoa: Siaq i g1 & | (Poetry is the criticism of life) fohe a1 @ ?
(A) HY AHCs (B) 78 (C) wraf@ (D) dsEad
15. ‘e TorY < A fore R 7 7
(A) THE (B) T<cE (C) F™wiqE (D) e
16. 3faa wreg @ e worm <l gfd Hifve

Ty freqor § Sreg WUER qe JrG B 2 |
(A) TARSH (B) W (C) awINT (D) @A
17. T freqor < 4@ YRR &
(A) =R (B) @ (C) o (D) ¥
18. T HRAH fraT= JTTavas B |
(A) ST - (B) @A (C) WATH® (D) TwWoT <hl qurar
19. T ey rferd <1 foreprE BT 2 |
(A) TEF@ (B) & (C) TreHs (D) $H A RE T
20. I[G II6C IRV hT foehrd Toreqor & feper ST 2 |
(A) T (B) =X (C) TEIwoT (D) TSRl
21. AT ST h Y0 &
(A) B (B) =M (C) wrEd (D) eI
22,  Ter wisean & ged 32w €
(A) YIETcHS RERD (B) IMTHS 3T
(C) Toramcres 3293 (D) 3uTrerd @ft
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

STeTeh! o Tehetl o STTYR BT 2

(A) HTgFaIE] (B) EER Ui

(C) i < v (D) I g T

T T FEAIYH ool Thd T H AT 8 ?

(A) FG (B) Wawmfa< (C) seEia (D) 8 & IE &
TG @A A HH IEE ra sfa Hrufaa g 7

(A) Tommafa (B) e (C) @M (D) helitgE
30 H 37T h1 i HIF TR B ?

(A) TE™ (B) e (C) WHe™ (D) Siagaml
e § Fed girg TARv B EH g 7

(A) A=< THET (B) hicemd THm ohE

(C) TTEaHT THTIT (D) T8 & IS 7l o
ek foror’ & R & ?

(A) SeITE  (B) FUEE  (C) TWRfdE (D) wefd
Frenferfigd 4 @ s @1 id ffqag =i g ?

(A) fgorea (B) Weded  (C) Fo=mfer (D) @ R T
T fohd Tdeh! § 98¢ IR Hid I ?

(A) G (B) <&M (C) H&t (D) g

ifcreptet “wifed w1eT o €W <l &) ol el &' Tord gl 7

(A) IEHE ETRIYETE
(C) WX T4

< o y O o\
coldT {cdlent [endenl (- % ?

(A) &Mid (B) &d

fegTieTTet sl S0 fohd & | gaTT ?
(A) 1690 (B) 1653

TATY 3TAhR Tehuehl AT § 7

(A) ¥R (B) &M
STH O i H &1 hId hl T 8 7
(A) ®fafrm  (B) Wk frm

(B) =T TH=; I[F

(D) . T

(C) JHa<ifag (D) ymw
(C) 1763 (D) 1663
(C) i (D) 3T
(C) wgaw@ (D) F=eft
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36. VYT AR % WRATHH @ ?

(A) eI (B) &g fAarHT
(C) WRa=g Blwa= (D) TR FqrgEet
37. USHM H gH b TEGh HH§ 7
(A) SRR =ed - JHeH (B) STCTohSI g
(C) waTd TR fay (D) W=
38. &< U= o1 SiHeh fop8 AT ST B 2
(A) Tiepso It (B) WA= BRw=5
(C) Sed Wieht g (D) 3T

39. Afrefieror T, MUTERRY fig, TRTSHTe S, Tohd I o id 7 9d & ?
(A) WraggT  (B) fadigm  (O) BEER (D) WV

40. TR om G B o fepeeht AT # 2

(A) TRITSETE S T (B) Tm=fd Iream

(C) ATl T (D) Hrgetret fgaedt
41. I, I IR TAUT UM {heehl TTHTE & 7

(A) SreTaret fad (B) AR 4TUS

(C) T fiie ferem (D) gugT FAK FEH

42, “I9 GG % IMYR W WA i SAfad gH ot a1 39 &< § B
g srfufed fomam e |7 g it fopaeht 2 7

(A) SRR ETE (B) TECH! (C) T (D) it ud
43. e, g, <ty g feeeh A g 7

(A) Fren (B) ud (C) wEre (D) wETed!
44, SHETE S JEA H A Fhld T8l 8 7

(A) wETG (B) feTert (C) U (D) T ¥ HIE &I
45. BHETETE R % i geq w1 fagis ], e war 7

(A) TG STt (B) 3= I&A

(C) f. T (D) fren
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46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

56.

57.

I G, ATE TS MG Td WEHTSR o T IAT i 8 7
UNRESIEE] (B) RIS (C) TITEad (D) gAY

1935 3. H 3 | gl ‘Wfrsfict orge ga’ i AT g8 ?

(A) R (B) sfesrm (C) ®UTRTE (D) 370 T HIS T8l
TdaTE! HA-3E w8 ?

(A) -1 98 (B) Ifedeha Jam

(C) auTiefa It (D) ®94TE!

frafaftga & 9 yum ‘AR g’ S R A HRia R ?
(A) FHER WA (B) T@dEar  (C) 3T (D) ¥ Tt

2. ST fig o IER Tt TR 6 gAIR hH § 7
(A) Tieety (B) 3™ (C) AN (D) T IR
A WA 3T AeHienid ot 3 T2t shferar bl ferg afzent o1 grared fomam 2

(A) Ty (B) T &faar (C) | (D) W
‘gforgma gow’, ‘Ot ST, FA@H B & 7

(A) o yaTe s (B) Sf. ¢ e
(C) e fag (D) Fiesig

THHIAI Tl shl shict—EHT I1: a1 = STt 8 ?
(A) 1965-2000 (B) 1940-2016 (C) 1960-2000 (D) 378 & HIg &

afereft T K vem T R AT ST ?

(A) Hifdudrment (B) feramufa thaa Shifderan

(C) TSR Sfever Thad (D) T 9 g &

AT TR & o TR i & 7

(A) AR (B) S HAR  (C) THFRI AT (D) A= FAR
Ty foguags o g | frasmr aa 8 7

(A) ufead (B) 3Teioroist fany

(C) s (D) i

TETIT 1 THT, ‘TR, HOERTRI STf¢ WRdw o e o fasa =g ¢
(A) s (B) (C) WWIgUR (D) ¥ & %iE e
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58. ‘e, ‘A, 7l @t i g e qug % A A B 7

(A) ST SgeE (B) STeTehw g

(C) =rgert i el (D) wgrest s
59. ‘s[@cl i Al foheehl AT 7 7

(A) wgTee e (B) wHrE

(C) HEEETS fgerd! (D) T

60. ‘B T EeTaT S ERY o WRATHA & ?
(A) R @ (B) FAEU T  (C) ferenfam frs(D) = v

61. 3= yamg g ‘Foan feg’ w1 ugen Fsra R @ g 7

(A) B (B) TSI {IST ST AT

(C) T ohaehl <l M (D) ST ¥ g &l
62. ‘IO TE IU=ATH el for@l T ?

(A) 1882 (B) 1880 (C) 1890 (D) 1898
63. ‘A 3R foy’ o AR ®H & ?

(A) SIS TR (B) It

(C) wTercfi=ror i (D) W& THhS
64. ‘3 =C MY IUATE & AGH D & ?

(A) 31 (B) = (C) Grgadi (D) "L 9er
65. ‘e, fSeefamr’, e @ fagdl foeas su=ma & ¢

(A) 31 fyrrweren (B) irsH \ret

(C) gnm fheett (D) ST Hiawelt
66. TGS <hl SRITNIG Tgei! ST i € off ?

(A) 7™ (B) kT (C) BRIWER (D) FgHfd

67. ‘GAdd HEFT I bl Yaioh hE HHT ST 8 7
(A) T EEE  (B) Hied Uy (C) #uféig (D) 3™

68. T gl 1 Yy ferdeh! ShaT=ai ¥ AT a1 g ?
(A) HHATR (B) FH@ami  (C) WEATRW (D) g
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69.

70.

71.

72.

73.

74.

7S.

76.

77.

78.

79.

80.

81.

[EHW’, ‘3T <ol Ha' Tohdeh AT TS & ?

(A) &I IS (B) IR IST&d

(C) 37ege ferfeheatrs (D) feemam sy

foret Targr™ <A1 WT=Ia g o Teeh T 363 T ST shl IS & §aTT ?

(A) s.fet B) s.fimdm  (C) .fwme (D) m=E
TR Aehepl § M g A s a1 i 8 7

(A) 3USAY 39 (B) THFAR el (C) fosyywmet (D) 398 & &g &l
AoTTeT" g Tfurfed ey faga s a1 g ?

(A) 3itere (B) 3IH (C) fot=fagma (D) ¥ @ &8 &
TR, ThIcIawshl, UHA AehiaeH, fhd ATl 9 9 98 9 7

(A) fosErg (B) Wdale  (C) ®9ETG (D) Hr=ETg

‘311" Iufaent’ fra AT g A A B ¢

(A) T (B) T (C) Tz (D) 3 <=t o1 firsror
weell U H Tl ], 39 a1 H H o ik b1 e 7

(A) deg (B) 3afystor  (C) wwed (D) H

Trept ore ™ ST ANfH IS 7 E_:E

(A) =8 (B) @ (C) = (D) 3

g H AU e R TAATR 7

(A) S frr (B) sm=a e (C) faftems (D) foranfesivor
‘=’ T guETR wse &

(A) FrEi (B) M (C) =X (D) =1y
“3TrorEet’ <h1 foretiareff wse S |1 R ?

(A) ISRt (B) et (C) == (D) Tt
‘3ATERt o 3T HETa 1 FT AL 7 ?

(A) SERHI TG (B) guwag (C) F&iawg (D) @ o&]

‘Hg W 1@ <A1’ YgTal o1 37 7
(A) g T urt 3T (B) HHA g ¢
(C) Hed e ¢ (D) Hg @

9 Code No. : C-673/2020/Series-A
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82. ‘e TR H AR
(A) Toreht Tmer agred 1wl o (B) Tw=H @

(C) shifera &t (D) e Fa
83. ‘SE HITEE R ?
(A) @ (B) TR (C) hreT (D) 7T

84. U1 oI faetmreff seg RITR ?
(A) TR (B) Tommaom (C) T& (D) T
85. ‘Afarshmr H IUMI HH ETR ?
(A) fd (B) H (Rl (D) #o
86. wTdl, TR, AET3AT & EH-YCH HT R AT E ?
(A) dr-foare  (B) W (C) &= (D) ST ¥ i3 &l
87. fTem, dfifsan, sewe, .., e, i S FA U E ?

(A) Jafdeh (B) &g ardied
(C) SE=R H1eaH (D) 3T & 1 T
88. = fohdd UPR HIEIAT R ?
(A) & (B) (C) w= (D) =
89. TN I IoT 39 AMNfAGq A A BT AR ?
(A) Trfea et wam (B) Afrexfaa <t Terdsran <l 1am
(C) &9 AT (D) AT HEAT
90. 3ig I T A UF WA fohd T B Tefiep fearm 2
(A) 1580 (B) 1641 (C) 1780 (D) 1987

TR 91 | 95 Teh TS oh Weq] ol Tewgl H IfeIa ATHwTINe, 316G T -
91. Approval
(A) JgEla (B) IgEWE  (C) FgEfd (D)

92. Deferred pay
(A) FRYf@daT (B) ddfs  (C) daddlg (D) HEME Wl

93. Acting
(A) TTHH (B) NI (C) gl (D) fafm
Code No. : C-673/2020/Series-A 10
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94.

9s.

96.

97.

98.

99.

100.

101.

102.

Special Messenger

(A) T (B) "R (C) §IH (D) fomgd
Sanction

(A) sgafa (B) Hf (C) el (D) femfa
I H1 BC Clal 3T U Dl bl AR ST 8 7

(A) Peforat (B) e (C) Haa (D) W
Sraf=, AT 3Tfe b fohe TR & e § W ?

(A) THdHE  (B) @WEHS  (C) Ta (D) HETHTH

e Y TerrT fged 3 frfy el Bl oy e wfaae 3 f sreRe
27

(A) 343 (B) 351 (C) 344 (D) T ¥ WIS &
T famT T &9 @ fore o | 1 i o 2

(A) 1965 (B) 1975 (C) 1980 (D) 1990

T~ a1de (3@ gfra) el & Y& 53T 7

(A) feeett (B) 3%R (C) b (D) I

The limitation of the five-stage system of Herbert is

(A) giving less importance to the teacher.

(B) giving less importance to knowledge.

(C) giving more importance to planning. s ;
(D) making the students passive.

geIe. Shl T —3TaeT Ughd &t Hur g 2

(A) Ta1etes ! A HEw & |

(B) T ! %A Tgw T |

(C) TS ! 3Tfreh Wawd &l |

(D) ferenfef=rt =t safshamsiier smm |

An example of verbal illustration is

(A) graph (B) chart (C) model (D) simile
wTfeesh el 1 T 3eTe
(A) TT® (B) =T (C) Hisd (D) 39
11 Code No. : C-673/2020/Series-A
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103. The chief quality of a teacher is

(A) expertise in declamation (B) love for disciplines
(C) finesse in teaching (D) behavioural efficiency
et 1 U g U B

(A) FoRqa H (B) ST 5

(C) Toreror & wivre (D) ARG gar

104. Educational philosophy tells us what type of education should be imparted
and why. On the contrary, the relationship of educational psychology is with

the aspect of

(A) “When and how” (B) “Whom and till what time”

(C) “To whom and why” (D) All of these

feTeh IS Shadl & b fora Jepr <t frer wem < S =nfaw 3tk = | 39
faota, foren s w1 Tverg % IRV A 2 |

(A) “He I FH” (B) “fergep! 31X fopm wma aeh”

(C) “forment TR A (D) 3o+t

105. The best system of class teaching is the one in which
(A) there is no need for the question-answer session.
(B) the teacher asks questions from his students.
(C) the student removes his doubts after consulting his teacher.
(D) both the teacher and students ask questions.

T HE e i Tad 3= TSl § R
(A) TTT-ITR G shl LI T el 2 |
(B) fareten 319 forenfRiei & yoa qmar 2 |
(C) Trersh & TQITE o o TG feremeff 3TomT Heg T htd & |
(D) farere 3R feremeff gH1 g7 g € |
106. Education not only conserves the culture of a nation, but also it
(A) makes the latter rich.
(B) defines the latter.

(C) makes the latter spiritual.
(D) makes the latter mass-oriented and popular.

7871 71 Shered Ty <h1 Teapial 1 GLET Ll & I T8
(A) Wl %l TG ST 2 |

(B) werdl sl afuTiii st 2 |

(C) TXadi ol JATeATIcheh ST & |

(D) werd! sl SHIE 3 FEfe =T R |
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107. Which of the following works a teacher will have to do throughout life ?
(A) Study of books (B) Study of children
(C) Evaluation of his shortcomings (D) All of these
T fiegen S0 O I A1 HE 0 Rt s 2
(A) T&ih I AT (B) <Al sl A=A
(C) 3&=h! AfeAT hl HeaTehd (D) &

108. Which of the following traits of a teacher’s personality makes him a
successful teacher ?
(A) Sensitiveness (B) Truth
(C) Strong character (D) Skeptical behaviour

Toreres o =afthea 6t fme & & oo it forziwar B St 38 e f31ereh amet 8 2

(A) HeeRi@al  (B) @edal (C) F@-If@ (D) SHEE FEER
109. Mal-adjustment and frustration are developed in the children when

(A) they are not sent to school.

(B) their needs are ignored.

(C) they are not able to pass the examinations.

(D) their parents give them more love and affection than is due for them.

Sl H TS 3T HUST 3¢9 7l Il & I

(A) 3= Teremera Tt 9t ST | [E5E

(B) 3eh! STTETIHRATST T &M &1 ¢ STl | -

(C) o Tdteq 3xfivl i o 3rEmed B 2 |

(D) 3o TTaT-TuaT 3= 31fereh = TR A ¢ fre@ o afea o |

110. As a teacher, what do you consider to be superior ?

(A) Intrinsic motivation (B) Extrinsic motivation
(C) Both (A) and (B) (D) None of these
e f1eqer o &9 H, 319 9 o § fondep! 9e@ ST AR &1 7
(A) ITT=TEh JTOT (B) @&l SRem
(C) (A) 3R (B) g (D) 3 | 13 Tl
111. Which is the most effective element for making class teaching interesting ?
(A) Lesson plan (B) Personality of the teacher
(C) Teaching method (D) Study material
ST TI8T01 Rl Tk ST o 11T 395 | ShiF I Fed 3Tk THTE Heh & 2
(A) UTE-IATSHT (B) TRreteh =1 SAfadca
(C) Treqor forfer (D) 3T amif
13 Code No. : C-673/2020/Series-A
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112. Education is a triangular process. Its three angles are
(A) student, teacher, social environment
(B) school, student, teacher
(C) student, school, acquisition of knowledge
(D) teacher, student, knowledge

Tarer wes BreptomenR Ufshan & | 58 oA i 8
(A) Toremeff, freren, wmTiores amareRer (B) foermer, fommeff, foremen
(C) Toreneff, foemer, M @ e (D) Tremes, foenefl, sm

113. The ‘Insight theory of learning’ is promoted by

(A) ‘Gestalt’ theorists (B) Vygotsky
(C) Jean Piaget (D) Pavlov
“3AferT 1 JTagte g’ % yads &

(A) Tefee fagri (B) aTeTIceht
(C) S fommst (D) uEAd

114. “Children actively construct their understanding of the World.” This
statement attributed to
(A) Pavlov (B) Kohlberg  (C) Skinner (D) Piaget
‘g Torya Y 3ot wer =1 wfska fmior d & 1 318 e fepaent Tmfta g 2
(A) dTEAE (B) wiE@sd - (C) &R (D) T

115. The intelligence quotient (1Q) of a 25 years old boy, whose mental age is 16,

will be
Teh 25 Y o oTgeh <hl siifgeh difed (1Q) T Bt fyaeht Aftes 317 16 7 7
(A) 60 (B) 64 (©) 70 (D) 75
116. The correlation between retention & learning is
(A) zero (B) low and positive
(C) low and negative (D) high and negative
TR 3TR AR o s 1 GearEY § ¢
(A) I (B) o= 3R gaTeqeh
(C) T 3R HoTTeHeh (D) 3= 3R HUMHS
117. Which is not a personality theory ?
(A) Intrapsychic theory (B) Type theory
(C) Trait theory (D) System theory
S0 9 i 91 SAfead fag= 181 8 2
(A) Zeramgies fagm (B) <rsu fagra
(©) % fagr (D) T fargr=
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118. The purpose of instructional theory is
(A) descriptive (B) instructive (C) prescriptive (D) evaluation
frcarenes firgr=i 1 389
(A) = (B) fdamass (C) IgumcHsh (D) Hedmohd

119. Which commission suggested that “The training programme should not only
make the trainee a competent classroom teacher but also a good
administrator” ?

(A) Sadler Commission (B) Hunter Commission
(C) Mudaliar Commission (D) Education Commission

form s = ggrma fean o o6 “wfdreror Srisha 1 Wiy ®i hadt T§m wHefl-
Tareren gt TE1 o Tk 3101 YRMEe SHMHT ATEe” ?

(A) TSI AR (B) U AR e
(C) HeTferat T (D) e s -
120. NCERT was establised in which year ?
(A) 1964 (B) 1966 (©) 1971 (D) None of these
fop a9 & NCERT werfud g3t o1 2

(A) 1964 (B) 1966 (C) 1971 (D) 37 & g Tl

121. In H.P. percentage of female population to its total population as per Census

2011 is
STOAT 2011 o AR .9, # ol SHE@ 1 Afgel SHaet 1 9iaed 8
(A) 48.5% (B) 49.27% (C) 50.73% (D) 51.5%

122. Chander Nahan lake is located in which district of H.P. ?
(A) Lahaul-Spiti (B) Sirmour (C) Shimla (D) Bilaspur
Ry st dag e siafRaz?

(A) dE-efifd (B) R (C) Ren (D) feetEq
123. Ghaggar is a tributary of which river of H.P. ?

(A) Beas (B) Satlyj (C) Chenab (D) Yamuna
TR g9, & fopm 7&t <l gemes T B 7
(A) =" (B) ®acqst (C) =A™ (D) =g
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124. Doon valley is located in which district of H.P. ?
(A) Sirmour (B) Solan (C) Kangra (D) Chamba
f&.u. o fope foret o g wrndl fea 8 2

(A) Tawir (B) @ieH (C) hiTel (D) =l
125. Piplu Fair is celebrated in which district of H.P. ?

(A) Hamirpur (B) Una (C) Mandi (D) Kullu

T wem .91, o fopd el & TR ST 8 2

(A) THRG (B) > (C) e (D) P
126. First winner of the Victoria Cross from H.P. was

(A) Late Jamadar Lalaram (B) Lt. Col. Kaman Singh

(C) Major Somnath Sharma (D) None of these

Temmeret Tew & fageifan e o yom fasiar &

(A) . IHTER AT (B) . el HuM g

(C) TS EHTY ST (D) 398 ¥ ®I T

127. The capital of the Guler princely state was at which place ?
(A) Haripur (B) Sonpur (C) Rajpura (D) Junga

TR Tt T 61 TAgmT fohd T g ot 2

(A) &R (B) HMY (C) TSgU (D) Im
128. Rawingarh Fort was founded by

(A) Karam Prakash (B) Abhay Chand

(C) Veer Prakash (D) Sewant Sen

TferiTe Temett foree Tomfua femam 2
(A) FHIH™  (B) @I (C) Ry (D) Hed A
129. In the battle of Sabraon (1846), Sikhs were defeated by

(A) Gorkhas (B) British (C) Marathas (D) None of these

T o Ig (1846) , Torerg wufora gu

(A) TETgm (B) fefewgm (C) meigm (D) 98 8 &g A&
130. Disastrous earthquake hit Kangra on

(A) 4 April, 1905(B) 5 May, 1905 (C) 6 June, 1905 (D) 7 July, 1905

SHITST H fIATeIehI YehET ST o

(A) 43,1905 (B) 5W8, 1905 (C) 63H,1905 (D) 7 IS, 1905
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131.

132.

133.

134.

13S.

The office of Lokayukta was founded in H.P. in which year ?

2. 9. & SAehTeR Sraterd shi T fope o o i TS oft 2

(A) 1983 (B) 1985 (C) 1987 (D) 1993
Which is the executing agency of Sai Kothi Hydroelectric Project in H.P. ?
(A) M/s Goel Group Pvt. Ltd.

(B) NTPC

(C) SJVNL

(D) M/s Venture Energy Technology Pvt. Ltd.

8.5, T 91 It SeIaEd TNAISHT hl HRIBRI Toid] i Tl g 2

(A) TEE T I grgae o

(B) TA.Z .41, ohn

fu]o
(C) wa.A. T,
(D) THE 9= TSl dalarat grgee fafies

Bahra University is located at which place in H.P. ?
(A) Baddi (B) Bathu (C) Indora (D) Waknaghat
fa.u. § foret TorM W wgeT foraferamers ot w1 i 71 2 ?

(A) & (B) =1y (C) 3= (D) STeRATETE
‘History of Mandi States’ book was written by
(A) Man Mohan Singh (B) Akshar Singh

(C) M.R. Thakur (D) B.N. Datar
Tt 31T Hudt wem’ geaes fermes g foredt mreft 7

(A) wHEA e (B) emfde  (C) W3 I (D) .. grar A

Losar Shona Chuksam is a folk dance of which district of H.P. ?
(A) Lahaul-Spiti (B) Kinnaur (C) Shimla (D) Chamba
AR AT Fehe T8, o Tl TSTeT 1 AR & 2

(A) @Re-Tfifa (B) fF=R (C) Tsmem (D) =
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136. Which Union Ministry recently launched ‘Indian Report on Digital
Education, 2020’ ?
(A) Ministry of Science and Technology
(B) Ministry of Electronics and Information Technology
(C) Ministry of Finance
(D) None of these
gfeeam frard 31 fesfieat Topehe™, 2020° &1 816t & § fohd Shelr Hamera 4wy
IERIE
(A) o3 wa wenfieht dame (B) Sorarei-erd & T STeNfieh! AT
(C) o v (D) 3 4 HI3 &

137. Which state has the highest tiger population, as per the recent report of the
Environment Ministry ?
(A) Maharashtra (B) Madhya Pradesh
(C) Andhra Pradesh (D) Kerala
TITERT BT <hl SaHT Fdie o STER foh U= | | 31fereh 23R <ht S
g7
(A) HENTY (B) WA ~ (C) g™ (D)

138. Which district has topped the list of aspirational districts ranked by NITI
Aayog for the February-June, 2020 Period ?
(A) Nawada (B) Moga (C) Bijapur (D) Bahraich
HE -5, 2020 3Gt o foTw NITI 3T 6t Hgramhish ot St gt o fopd
IESERILESIER AR
(A) e (B) HFm (C) g (D) W&

139. Which country’s 300-year old historic temple has recently been
reconstructed with the Indian assistance ?
(A) SrilLanka (B) Bangladesh (C) Myanmar (D) Thailand

aneft g1t €t form <o % 300 I qu UfareTiées wfet i vyt TRt @ gt
[ERIRICIE

(A) sficTent (B) AT (C) ™MR (D) «UTEATE

Code No. : C-673/2020/Series-A 18

https://snowstudy.in



140.

141.

142.

143.

144.

Which country has recently banned all wildlife imports amidst Corona virus
spread ?

(A) Vietnam (B) China (C) Philipines (D) Malaysia

31t BTe1 T HRAT IERE Herrd o HROT fopd < 3 Teft s=refia s mAw A &
Th AN 7 2

(A) feraaam (B) == (C) Toefifmm (D) =eifdmm

In a certain code language, ‘DOME’ is written as ‘8943° and ‘MEAL’ is
written as ‘4321°, what group of letters can be formed for the code ‘38249 ?

T Hfvad | W H, ‘DOME’ &1 8943’ 3R ‘MEAL’ I ‘4321° & &9 H
foran SmaT ], @ ke 38249 % oI 317t b1 Tg o1 Bl TehdT § 2
(A) EOADM  (B) MEDOA (C) EMDAO (D) EDAMO

The next term in place of question mark in the following letter series will be :
frfeTRad 31eR sfEeT | e To o TI W ST Ug H1 BAT 2 e
DF, GJ, KM, NQ, RT, _? i

(A) UX (B) UW ©) YZ (D) XZ

Consider five people A, B, C, D and E, each having different age. A is
younger than only B. C is older than D. D is not the youngest, who amongst
the following are older than C ?

(A) Aand B (B) E,BandA (C) AandE (D) Eand B

A Wit foh 9= & A, B, C, D 31R E 3TcF-31 Y & & | A%hdd B &
BRIZICIESIZDI I DT BRITE 8 | T h TR CATSTR ?

(A) A3INRB (B) E,B3RA (C) A3IRE (D) E3MRB

Pointing towards a boy Veena said, “He is the son of only son of my
grandfather”. How is that boy related to Veena ?

(A) Nephew (B) Brother (C) Cousin (D) Uncle
oI T TSk <hl L ST Hich Had! 8, “d8 W IeT o Fhaild IA HIIAR” | T8
gt <o § fope SRR TrafRia 3 2

(A) WSt (B) g (C) wfsH (D) ==
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145. Sohan drove 15 km to the west from his house, then he turned left and drove
20 km. Then, he turned East and drove 25 km and finally turning left covers
20 km. How far he is from his house ?
(A) 5km (B) 8km (C) 10km (D) 20 km
g 379 =X H 15 Tereft ufvam i 31 =T, Tt a8 srff aww gt 37k 20 fot =ra |
ot a8 qd <t 3T e 31 25 foreft =t ot 3= # «eff 3T’ ggant 20 foret =re |
% 39 TR Y TRl X g 2
(A) 5 ferrt (B) 8 et (C) 10 fortft (D) 20 foprft
146. In which of the following Indus Valley site, actual remains of rhinoceros
found ?
(A) Harappa (B) Mohenjodaro(C) Kalibangan (D) Amri
ey a1t & fopm T W TS o aTfoeh 1aRy aR T 2
(A) TS (B) HETSlGel (C) Wiefsm (D) 3
147. Vaishali was the capital of which of the following Mahajanapadas ?
(A) Vajji (B) Kashi (C) Malla (D) Vatsa
fre o & fopm TgTerue sht Torert Sremeft oft 2
(A) afs (B) =Mt (C) wed (D) 9H
148. The Shunga dynasty was founded by
(A) Pushyamitra (B) Agnimitra (C) Vajramitra (D) Devabhuti
[T 97 % GEATIH o
(A) T=H (B) At (C) === (D) <@
149. Mahmud Ghaznavi patronised which of the following ?
(A) Firdausi (B) Alberuni (C) Utbi (D) All of these
ot o & fope Wawe ol = |Xeqor feam o 2
(A) TR (B) JF@E&fl  (C) 3 (D) 3@
150. Who was Akbar’s finance minister ?
(A) Birbal (B) Todermal
(C) Man Singh (D) Mullah Do Piaza
1R 1 ford Tt b U 2
(A) dREw (B) Tewd (C) wHfdE (D) Yool g1 @Sl
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151.

152.

153.

154.

155.

Gandhi-Irwin pact was signed in which year ?
eft-gXfem wwsiian form o o gEaneried fopam I 2
(A) 1930 (B) 1931 (C) 1932 (D) 1934

Coal is a/an

(A) Igneous rock (B) Sedimentary rock

(C) Metamorphic rock (D) Both (A) and (C)
S & Th

(A) 3T A (B) 19T A

(C) AT I (D) (A) 3R (C) I
Southerly Buster, a local wind blows in E5E
(A) South America (B) South Africa

(C) Australia (D) None of these

Helefl I, T &1 Teid! &

(A) cfeqor smfeer # (B) gf&ror ashieeT |

(C) Afeglern & (D) 3H € IS &l

Which strait connects North sea with Atlantic Ocean ?

(A) Dover strait (B) Florida strait

(C) Bab-al-Mandeb strait (D) None of these
JTCATIVE HETEAT o T I AR i hH HT TASHEH ST & 2
(A) ST TASHEAS (B) ARSI STerenenen

(C) E-3AA-TUSH TASHEHE (D) T8 O His T&

Which is the highest mountain peak of Nagaland ?
(A) Kangto (B) Sandakphu (C) Khayang (D) Saramati
ARTCAUE 61 Fa8 el A b & 8 2

(A) HI (B) HSHH (C) @I (D) TR
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156. Which is a cereal crop ?

(A) Bajra (B) Groundnut (C) Cotton (D) Ginger
B 9T HEA & ?
(A) S (B) el (C) U™ (D) 3T

157. Which part of Indian Constitution deals with Emergency Provisions ?
(A) Part—1X  (B) Part—XIII (C) Part—XVI (D) Part— XVIII
YT FITET 1 1A |1 T SATATAhIeN L & Feed 8 2
(A) "m—IX (B) wrm—XII (C) 9wrm—XVI (D) w|rmr—XVIII

158. Which Constitutional Amendment Act deals with Right to Education ?

(A) 78%h (B) 86 (C) 92 (D) 96™

I G1 HagTie TNy Affem fre w1 Afer @ vefiq 8 2

(A) 78at (B) 86at (C) 92at (D) 96at
159. Maximum strength of Lok Sabha is

SAThET hl HEaH T 2

(A) 540 (B) 543 (C) 545 (D) 552

160. Which company has Maharatna status ?
(A) SAIL (B) Hindustan Aeronautics Limited
(C) Rashtriya Ispat Nigam Limited (D) All of these
feR® SHTIt b1 TER T gall ITH & ?

[N aN

(A) SAIL (B) Togw™ wuHiead fAIiies
(C) g e fom fetfirce (D) 37t

161. A star appears twinkling in the sky because of
(A) Scattering of light by atmosphere.
(B) Reflection of light by atmosphere.
(C) Refraction of light by atmosphere.
(D) Diffraction of light by atmosphere.
A § T ar feafeTar femms vear @

(A) IRIHUSH H JehTST o JehIUH o SHRUT |(B)  SATIHUSH H oIS oh TEH o T |

(C) IRHUSE H TehIST o 3TYGH b 0T |(D)  SRIHYSH H JehTsl o T o I |
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162.

163.

164.

16S.

166.

167.

168.

169.

170.

Sodium bicarbonate is chemical name of which of the following ?
(A) Baking Soda (B) Washing Powder

(C) Plaster (D) Fly Ash

=1 5 9 fopment TETafes A Hifeam STEHEHe & 2

(A) sfFTEer  (B) R UEst (C) WX (D) AT T

Which is compulsory for blood coagulation ?

(A) Platelets (B) Red Blood Corpuscles
(C) White Blood Corpuscles (D) Lymphocytes
T Thed b oIl 3R SATa 8 2
(A) wiecH (B) ATeT ToRd ShivTehTd

o EiE
(C) ¥aId & hivTehTY (D) forwmEE o,
Wash your hands water.
(A) from (B) with (C) by (D) in

Antonym of ‘Derogatory’ is
(A) Immediate (B) Praising (€) Opinionated (D) Roguish

One word substitution for ‘One who is likeable’ is
(A) Amiable (B) Effusive (C) Ebullient (D) Amicable

Meaning of the idiom ‘To hit the Jackpot’ is
(A) To gamble (B) To make money unexpectedly
(C) To inherit money (D) To become bankrupt

R 1 Ty =g 7
(A) @+ (B) Y: + KX (C) T+ @K (D) 9:+R
qrt ISAT gETa 1 Y 7

(A) TI AT (B) 3torefi forg g
(C) IRfEd BT (D) T BHT
ETS UM R PIDEI Sl
(A) UGS (B) 3fgd (C) TR (D) e
23 Code No. : C-673/2020/Series-A

https://snowstudy.in



Space For Rough Work / Fed B F [T ==

Code No. : C_673 /2020/Series-A 24

https://snowstudy.in



